A

% 60 I8l HUHSE S ARbE BB HRGR RS R R Pp194E5 4 120 (4) - 130 (A) -19A () -20F (F) BRI F g
EYRE 1 i 2 {7 ERA 4 fr 5 {7 6 i 7 L 8 (i
FE | AR A6 K4 EX T [ K4 X [ K4 EX T [ K4 G gk | K4 S G G | fi K4 S G G | fr K4 T I K4 FEF G
B4 i B4 ik B4 i B4 ik B4 Xk B4 Xk B4 Xk B4 Xk
100m | 50 |5 1i/hkk HE— 3 10.64 | 201l Bk 3 10.92 3UcE . ST 1 10.93 4R KRR 2 10.98 || 5ifiE R 3 11.12 61PN #A 3 11.13 TiHAR 3 11.14 8illiA KA 3 11.17
13] R 3 0.4 ki) 3 0.4 HUR 1 0.4 e 5 0.4 3 3 -0.4 S 4 -0.4 17 2 -0.4 A AL 5 -0.4
200m | 49 | 5| 1/hbk HE— 3 2121 21 Bk 3 21.61 3l L 2 21.87 4 fl— 2 2192 | 5{K® (a5 3 22.08 6/ % 1k 1 22.20 T 5 1 22.31 81k FHE 3 2235
20| fRE 3 0.6 A i Iy 3 0.6 U 1 0.6 A5 1 0.6 I 3 0.6 NEF 6 0.6 HUR 1 0.6 B 4 0.6
400m | 49 | 5| 1 =5 itk 2 4890 | 2iEpk 3 48.97 3l T 2 49.22 LR HE 3 4939 | 5 KB {65 3 4941 6/ KBF =Ml 2 49.67 THEH A 3 49.83 8k HHE 3 50.33
12| A 6 U 1 HUR 1 LobNE 4 I 3 5T 1 EiJaw-) 6 HUER— 4
| 800m | 49 |5 1HRE (R 2 1:54.45 | 20NH K 2 15465 | 3R 3 1:55.34 | A%ME AREA 3 1:55.60 | 51 & 3 1:56.17 | 6fnH - 3 1:56.34 | THEK HES 3 15792 | SEMEYUHIAER 2 1:59.08
20| DRI 4 LR 92 5 4O 1 B 1 L 3 i E s 1 4 1 3 3
1500m | 48 [ 5| LT FEik 3 3:59.11 | 20NH K 2 4:00.96 | 3UAEF ith 2 4:01.86 | 4 KEF 3 4:03.16 | 54 K 2 4:03.52 | 6UEJR 3 4:04.16 || TIEKE R 2 4:05.32 | 8% MELA 3 4:06.17
12] AR 6 LA 92 5 NEF 6 2 6 LR [ 22 5 S 6 LR [H 22 5 G EN: 1
5000m | 48 | 5| 1 fH fEK 3 14:50.95 | 2 #KJE B 2 14:55.48 | 3LIF fEik 3 14:58.97 | 4%k B 3 15:02.18 | 5|7k 9% 2 15:04.82 | 6IRZEHIN B 2 15:05.45 | TUMH B2 3 15:09.98 | 8{EH R 3 15:12.19
20| HEK— 6 e 5 R~ 6 e 5 LS 5 AT 4 Ko 3 WIRBITR 1
110mH | 37 |5 B0 fik 3 15.09 2UHTH E 2 15.21 3iEH H 1 15.32 4N R 2 15.44 || 5i)& 3 2 15.60 6)1130 L= 2 15.61 Tl R 3 16.13 8RR FHE 1 16.42
20| (HUR 1 1.2 HORHE 1 1.2 INEF 6 1.2 B 5 1.2 G Srore 6 1.2 55 1 1.2 ERGNE 1 1.2 A S 2 1.2
400mH | 31 | 5| 10 & 3 5294 | 2 B 3 5339 | 3DKEE filfd 2 5447 | AEEF P 1 5485 | 5PHT % 3 5611 | 6HEI YR 3 5639 | TR EE 3 5640 | 8IEE EAED 1 56.51
13 HUR 1 2 kiJawes 6 U 1 Al SC i 2 Gy 2 AU 1 /MR 2 AL 2
3000mSC| 34 | 5| LI/AEF #fith 2 9:19.42 | 2% HE— 3 9:22.65 | 3lAJF fK 3 9:24.84 | 4 B 3 9:29.62 | 5N BEA 3 9:20.95 | 61KEF MkREE 3 93119 | 7iMTH DA 2 9:3271 | 8PEHE —K 3 9:142.85
13 JUETF 6 e 5 HR— 6 HR— 6 HOUE 1 S 4 R~ 6 AFYERE 5
5000mW | 14 | 5| 1A #E 3 24:01.87 | 2048 P 3 25:17.49 | 3iML #F 2 25:35.65 | 41 B 2 25:47.04 | 5B AT 2 26:16.58 | 6/dkili 2 27:14.95 | TURAJE Fnit 3 28:19.44 | 8{HH A 3 28:48.42
13 HURE 1 HURHE 1 U 1 U 1 EENA] 2 firt)d 6 A 2 kit 6
4x 19 |51 5 3 2 L 1 3 INEF 6 4 e 5 5 IR 6 6| WIKHE 4 7 &t 8 HESF
100mR 13 B A 3 R 3 ANE T 3 HHE % 2 HE 2 3 BEE fh 3 X 1 S 1 2
INBR e 3 4159 fie i — 2 41.89 OHE 1 42.44 SN BEE 3 42.61 =k Eh 2 42.79 R 3 42,92 AR 3 43.05 PN 3 43.85
i HEA 2 WA ZZE 3 R K 2 il 3 TS B 3 e ALIE 2 LU VS 2 Wk IR 3
A ik 2 KIF 2 i A 1 KA 3 HIA BK 3 Bh s 3 A B 2 ol 2
4% 48 |51 B 1 2 AR 6 3 BB 1 4 HEERE 4 5 it 3 6 INEF 6 7 PN 8  MEK—
400mR 20| (EHK 2 3 (= 3 RI% B 3 KIF W% 3 TR HKRE 3 A 3 NN T 2 AA 2
&l WEE 2 3:15.56 [iiENEPN 3 3:20.82 FE il 2 3:21.46 B BK 3 3:21.71 Mk A 3 3:22.52 ANE T 3 3:22.92 Li TN 2 3:23.32 O 3 3:27.90
o 3 R&#H (RIS 2 JEAR it 2 BRm ekt 2 A ik 2 (o PN ] 1 RSN 3 $hA HESR 2
hif & 3 =5 st 2 KIF e 2 FUHC il 2 TEIE FHA 2 PERE NP 1 kAR i 3 HE THE 3
Ak | 43 | 5| 1FE B 3 2.00 2% 1% 1 1.97 3B HKE 1 1.94 4T R 3 1.91 5K T 3 1.91 6imiH 2 1.91 TUEK R 2 1.88 SIZHIE WIS 3 1.85
19 s 4 4O 1 INEF 6 Rt 3 AU 1 A 3 I 3 e 5
Femnpk | 13 |5 1AE HEE 2 41.65 20K R 3 4.20 A 3 4.20 AHATRS 2 4.20 5L B 1 4.10 6/ -BF [eih 1 4.00 TRWE P 1 3.70 BIfHE Tk 1 3.60
12] R 1 U 1 [ Eed | 5 idawes 6 AU 1 Hi A 5 WY 2 5 NEF 6
BB | 50 | 5| 1/ WS 3 6.82 2K J 3 6.82 3R i 3 6.73 AHRIRE B 3 6.72 | 5lkEJF BLE 2 6.56 6 fRA flYE 2 6.54 7L {5 3 6.48 8IB 1E1W] 3 6.48
12] i 5 3.4 T 4 4.0 PN 4 4 2.6 EdsEiaE) 5 1.8 GiYaweN 6 2.5 AR 6 2.7 RN 6 2.1 WIRBITG 1 2.7
=Bk | 47 |5 L/NR Rt 3 14.22 20AS 3 14.05 3IES Bt 3 13.80 4U/NBPSE R 2 13.59 || 5B &9 3 13.49 6! 7Rl 2R 2 13.42 T HLE 3 13.42 8k 5t 3 13.28
20 H#BEAFN 6 0.5 2 6 1.5 NEF 6 1.7 SR 4 2.6 WIRBITR 1 2.8 3 3 1.9 A T 2 4.2 A 5 1.3
F| R | 43 | 5| LBKA A 2 1459 | 2@ JBF 31423 | 3K = 3 1418 || 4[mR i 3 13.84 | 58K LA 2 13.80 | 6]FEF Hih 3 1335 | TiER MK 2 1310 | 8IAUHE A 2 1283
13] ik 3 [ERLNE 1 U 1 AP 6 B35l 4 HUR 1 WoESHE 1 NETF 6
e | 47 | 5| LA T5E 3 4818 | 20BKA jHE 2 4621 | 34EME 2 4585 | 4iiaAk = 3 44.88 | 5]°FEF it 3 4364 | 6PAS WG 3 4341 || TRE B 3 4143 | 8HUE M 2 4088
20| A RLEIE 1 i 3 HU 3 i 1 HUR 1 Sk 4 HREF T 5 NETF 6
nve=fE] 29 | 5| LK Ywr 3 5515 | 20K% A 3 53.42 SifRA PR 3 53.40 47 A 3 5118 | 5i kM Fth 3 5114 65 Fhit 3 46.64 TIRIHE O 2 43.01 8i<FfE A 3 4113
12]  fRiE 3 UG | R 3 K& U I~ Rt 3 S 3 AP 3 NEF 6 ERFKIR 3
R0FE | 49 |5 1R B 3 6053 | 2@ —K 2 59.25 | 3iiliki 15 3 5670 | 4iffiF 2 2 56.44 | 5PN A 2 5411 | 6KH Mith 2 53.75 | TiERE] 3 53.20 | SifEAr &K 3 5101
19]  [HKEHD 2 U 1 RN 6 b 4 NETF 6 ARk 3 U 1 ERN A 2
I\FERER| 6 |5 1 B0 i 3 5660 |2 /MZ 3 4752 || 3 /il W 2 4719 |4 fEE HRIE 3 4640 |5 HA R 3 4245 |6 A B5 3 4234
2] HUR 1 BUREESH | HUR 1 Al S 2 foFsias 1 Al SCHE 2 HUR 1
<] 11.58(-0.3) 15.35(-0.5) 11.90(-0.3) 17.99(-0.5) 11.48(-0.3) 17.31(-0.5) 11.83(-0.3) 17.99(-0.5) 12.38(-0.3) 18.07(-0.5) 12.17(-0.3) 16.59(-0.5)
13]  6.63(1.2) 44.18 6.43(0.4) 44.02 6.29(2.5) 41.96 6.11(1.7) 38.2 5.57(2.2) 42.84 5.70(1.1) 30.11
12.49 1.92 11.76 1.74 9.34 1.74 8.83 1.68 9.92 1.62 9.2 1.56
51 4.29.15 51.04 4.58.93 53.67 4.57.72 52.68 4.26.96 54.35 4.55.74 55.06 4.43.96
ey 10 1 155 2158 3 58 3UVET 6 53 PEEEES 5 48 5 A A 6 37 61K — 6 35 T HE 1 29 8 #BENY; 1 24
KA N7y | 1R 1 74 PEEHEES 5 48 3R — 6 35 4 PR 3 33 5U\EF 6 32 6 HURE 1 29 7B 6 28 8 55 1 24
+ [Zr—nie | 1t 1 63 2R 3 25 3Rk 3 22 HNEF 6 21 5{ A (RS 1 15 63k 4 11 TR IE R 6 11 8{A KB -#EETF  2-5 9
SARTAT A S
12 1A #2A #3H AR 12 1A #2A #3H HaA
B Bk 154 £ R i) AR AR s ddes | M| wE 1.0 hPa 1.0 hPa 1.0 hPa 1.0 hPa w5 2 @ G
1| BMAE 815 A ;f"i_“ JR 2.3 m/s 1.8 m/s 1.4m/s 1.2 m/s % Kig: i & 3 i
| BBk 139 K R 23.5°C 24.0 °C 19.5°C 24.0 °C ronba ey B BB B B FHE #ow B kA
T BWAR 591 A T 38% 44% 72% 36%




% 60 I8l HUHSE S ARbE BB HRGR RS R R Pp194E5 4 120 (4) - 130 (A) -19A () -20F (F) BRI F g
z | A 1 L 2 fir 3 fir 4 {r 5 {ir 6 (i 7 4L 8 {ir
FE | AR A6 K4 L O s S (A K4 L R s S (A K4 i R s S (A K 4 GG |fi K4 G G | A K4 G G | A K4 G G | A K4 FEE G
4 S 4 S 4 S 4 S B4 K B4 K B4 K B4 [
100m | 50 |5 14 2ok 2 1230 | 2 K¥ 31247 | 3{TME RIEF 3 1258 || 4L FEE 3 1259 || 5N BE 2 1263 | 6BR B 301272 | TR RMAE 3 1273 | 8RR &h 2 1277
13 3 -1.3 HA— 4 -1.3 A5 1 -1.3 INEF 6 -1.3 P 6 -1.3 iy 153 3 -1.3 £ 6 -1.3 B 1 -1.3
200m | 49 | 5| 1UAHE H 2 2457 | 2M0E WE 2 2530 | 3 KT 3 2543 | 4 ;¥ SiE 3 2556 | 5P KET 2 2560 | GRS RMEER 3 2578 | TOARR] Al 2 2581 | 8IKW 2k 3 26.10
20 RS 3 4.0 L eSS 5 4.0 HA— 4 4.0 ZIEREE 5 4.0 HUR 1 4.0 £ 6 4.0 £ 6 4.0 #v5 4 4.0
400m | 48 | 5| 1i0iE WE 2 5653 | 21fiE MK 3 BT.64 | 3IKEF i 3 5818 | 4[EF Ak 3 58.64 | 5UE KR 2 59.33 | GIAM A 2 59.37 | TiRARS W 3 59.53 | 8iFEIH DA 2 59.94
12]  RRRESE 5 BERE 5 ST 2 HO 1 i 2 5 I A 6 8l 6 EPNVI 4
| 800m | 48 |5 1M i 2 212,05 | 2 EF ARE 3 2:17.81 | 30°FM #i% 3 2:17.91 | 4R 2 3 2:18.07 | 5K A 3 2:18.33 || 6K A 3 2:1842 | TR Zxdl 1 2:19.21 | 8{EiTH A 3 2:22.49
20] AR 3 HO 1 H 1 A 5 PR 5 #E R 1 HURL 1 I 3
1500m | 48 |5 10 2 4:32.09 || 20T W 1 4:39.16 | 31Fm W 3 414136 | 4EE EH 2 44137 | 5INH K 3 4:41.39 | 6ifEIl Bk 2 44147 | THIE BREK 3 4:41.48 || 8ikZIL Ak 2 4:46.98
13] R 3 INEF 6 L 1 mA— 6 EEN; i 4 I\EF 6 JER 3 iy 4
3000m | 48 | 5| 17E% Hi 2 9:50.33 | 2MEE X 2 9:59.97 | 3MIE ARA 3 10:05.50 | 4#1L ik 2 10:13.42 | 5UMEA T 3 10:18.91 | 6]fh7H HHE 3 10:20.59 | 7iEE BT 2 10:30.88 | 8ZEMKF A 2 10:32.51
20| HEk 6 NEF 6 JER 3 [ 4 4 [iES 3 NET 6 NET 6 kR 6
100mH | 34 |5 Lisgil #% 3 13.81 217 BRL 1 14.41 SIFEIN EAE 1 14.96 | 4iPAd SR 1 15.16 || 5ifcik Hib 1 15.18 6 M T 2 15.38 ULDIIEES | 2 15.60
20 \EF 6 4.3 L 1 4.3 U 1 4.3 At 4 4.3 HUR 1 4.3 HR ST 3 4.3 B 1 4.3
400mH | 27 |5 1%EF HE 3 6211 | 2 BT 2 6455 | 3ifERE Ei 1 65.08 | 4k W% 3 6512 | 5ABTH ¥R 2 6647 | 6IAR Kz 3 65.57 | TiEHL itk 2 6586 | 8iWEK EL 3 66.15
13 B STHTEH 2 #h S 3 HO 1 Sl 6 ST 2 HUE 1 HURL 1 HBESE 1
3000mW | 8 |5 12Kk Al 3 14:26.41 | 2 G fhifE 3 14:55.79 | 3/ EJI AR 3 15:22.63 | 4EM AP 2 19:20.16 | SIS FEfE 1 19:23.34 | 6{#zil1 W 2 22:32.14
12| HUR 1 R&H HORXFE 1 HO 1 HO 1 Eiitd 6 Eiitd 6
4% 49 [5]1 fav 108 3 2 BB 1 3 HUR 1 4 [SLiz=2E] 6 5 A 6 6 R 1 7 INEF 6 8 Hi A 4 5
100mR 13 B ARAF 2 )l ZE 3 I 1 R HEE 3 i ek 1 PANITE S 2 AL TR 3 IHE ABLE 3
R F 3 4797 Tk RIET 3 4854 e B 1 48.67 HA sk 2 49.28 A R 3 49.33 AA 2 49.59 SR PSS 3 49.79 WK T 3 50.32
S BRI 1 A R 3 P EAL 1 AN 3L 2 e wE 2 B AR 1 KB Hipdr 2 B BT 2
EE SR 2 KIE_Hnw 2 FiE KEF 2 AN RET 1 AR B 2 S T 2 JiA e 2 JJEE 2
4% 31 |51 HUR 1 2 v 103 3 3 INEF 6 4 HBES 1 5 P 6 6 Hil {4 5 T HEEZEE 6 8 HBENLHTH 2
400mR 20 (PP AL 1 A K 2 SR FSE 3 K Hiw 2 B R 2 NI P 3 ok 2 R A 2
P Higk 3 3:53.37 Hi B 3 3:54.99 SR Rl 2 3:55.62 A R 2 3:57.51 R S 3 3:59.56 B EAE 2 4:00.75 SR AL 3 4:02.17 BV SR 2 4:03.03
RiE B 1 PN 3 PR TR 3 Tk R¥EF 3 A Sk 2 R BT 2 LA A 3 BB R 2
P KET 2 M SR 2 e Bt 2 Af HER 3 AN L 2 IR KBE 3 bl Ef 2 KB % 3
Ewbk | 47 |5 10FE b 1 1.70 2URA AL 2 1.61 3 RESE 3 1.61 1R WRE 3 161 | 5/ Fil AH 3 1.58 6iiA T 1 1.58 TIREF Ak 1 1.55 8K Binia 3 1.55
12 BB 1 INEF 6 L 1 HBES 1 FAfE 6 LNEES 5 ERENEA 1 R 1
FEREBE | 48 |5 1a)I EE 3 5.66 2R AL 2 5.60 3PRMT {KEL 2 5.53 1R P& 3 5.52 | 5Tl AKH 3 5.50 6 M WIAE 2 5.49 TURIL B 3 5.44 8 H A 3 5.24
13| BB 1 1.1 INEF 6 0.6 L 1 2.3 HBES 1 0.1 FAfE 6 0.3 A MR 6 1.8 \EA 6 0.0 G NI 1 1.9
fdft | 46 |5 1sAR Ak 3 1347 | 21@dF EFE 2 1189 | 3UIRZEEF HEAN 2 1157 | 48R E#F 3 1131 | SR % 31076 | 6igEA A% 21075 | TifE A 3 10.46 8l e 3 9.67
19] HUR 1 HO 1 HO 1 NET 6 # bk 6 K 6 Bl 4 A F 6
T PR | 39 |5 Lims mfEE 3 3537 | 2A mE 3 3371 | 3iedk EEE 2 3266 || 4 KEAE 3 3239 | 5lMEME A 2 3162 | 6L FEGE 3 3138 || TiEME ik 2 3077 | 8IF ®BE 3 30.64
13| oS A 1 oK 6 HRL 1 INEF 6 HhAL 2 EE 6 HlHEFN 6 R 1 Atk pEse 4
R0FE | 46 |5 1edE EEE 2 4321 | 2B BE 3 4029 | SHBALET 303930 | 4K XT3 3839 | SiEk A% 1 3587 | 68N fER 3 34.02 || TIEAF M 3 34.00 | s8R BT 3 33.71
12| [HUR 1 e 4 HBH AT 6 A 2 6 HURL 1 HER 1 I A 6 HUKHE 4
LR 10 |51 Fili KB 3 4468 |2 \WE ABUE 3 3857 |3 fRAT (KEL 2 3855 |4 fREF OB 2 3683 |5 fi Y 2 3402 |6 BB WEE 3 3308 |7 A BRR 2 3214 |8 EHA OEBE 0 2 3074
190 AR 6 K& Hil AR 4 5 H 1 H 1 35 P B 5 #HoZSHE 1 EAZ(EhAN 5 = 1
15.37(1.5) 5.39(-0.4) 17.36(1.5) 4.83(0.0) 17.63(1.5) 5.37(0.8) 16.36(0.0) 4.76(1.0) 18.31(0.0) 4.89(1.3) 17.85(0.0) 4.74(-0.1) 19.53(0.0) 1.87(1.8) 18.06(1.5) 4.62(2.1)
20| 148 33.9 1.45 33.58 1.48 20.37 1.45 26.01 1.48 28.25 1.39 25.1 1.51 15.92 1.39 21.55
8.88 27.16(-0.8) 7.99 27.12(-0.8) 6.99 26.36(0.3) 8.27 28.60(-0.8) 6.84 29.33(0.3) 7.43 29.10(-0.8) 5.89 27.36(0.3) 6.69 29.07(0.3)
2.29.28 2.39.81 2.31.86 2.42.14 2.45.03 2.44.88 2.41.51 2.51.43
£ w oo | rEs 1 153 2N EF 6 69 3 b 1 18 4R 3 34 5 [ 6 32 BI[ES 3 28 7RIS 2 19 DIECEES 5 18
;af&g%ﬁ'}—syy 1 1 88 20\ EF 6 43 3R 3 34 AER 3 28 5 4B, 1 22 6T N 2 19 TR 6 16 8} il [ 52 5 15
ES 74 1R 1 54 2 b5 1 26 3INEF 6 26 418 ok 6 11 5O IESHRE 1 8 6! A 6 8 7T 4 7 8L HURFN 6 6
ALER AT F ¥ - koA
12 EANE 2R BRI 4R 12 EANE 2R 3R 54 R
5| sk 54 g S P F St | ¥ wE L0 hPa L0 hPa L0 hPa L0 bPa % B 2 8 % A m
7| sman B5 A ol 23w | 18w/ Lan/s 2w |2 e w 5 B i
| Bk 139 K IR 235 °C 24.0 °C 19.5°C 24.0 °C I AT ey BT Bt BAf ELAF FHR #H oW o X "
T BWAR 591 A R 38% 44% 72% 36%




